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(R 1) (Bl 25)
(1) a®—9b2+12b—4

(2) (x+3)(x—3)(x%+3)

11-6V2
(3) 2=

(4) a=3, b=2
(5) a=2, b=-1

([ I (Bos 25)

(1) (4,0), (0,-6)

(2) /MEIZ4(x=-1D LX)
(8) (2.2)

(4) 2—-V3<x<2++3

(5) (2,1, (-1,2)

(RE ) (Bl 25)
(1) l=%n, S==m
(2) =
(3) 06
(4) y=(-2
(5) 6

V3)x & y=(-2-3)x

(V] (Fdsi  20)

(1) a=3, b=8

(2) —§x3—%x2—x+C (C 1 IFE EE)
(3) 4

(4) fl(x)=2x*>+x+1

(FEV) (Bl 5)
R 0 T R RHME 8 AR

O=m OLx, Ml ﬁx(

1

V2

)

-1
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(FIRE I MER (Bds 15)
m v 2 7 @ 7 4 A ® =

(FIRED fREM) (BdsL 20)
(1) told her students not to go out of the classroom
(2)  wish I had noticed the news a little earlier
(3)  Scarcely anyone knows the answer to this question.
There is scarcely anyone who knows ~. & 7]

(4)  Iam going to go shopping this Saturday.

(M ARER (Al 20)
Z ORI, FEMEE EOREIC K Y R 7E LEE A

(AN fREHR) (Bs5 20)
(1) EHRKEBEBL2ND L TWADERDIT-DIFEHEOFTL,

(2)  LTHHELDPSLTT, HEOERIZE Thite LE LT,

B) EFNEBEWZZEIIRATWDOTTR, XA MUTbhr 8 A,
4) BHEHLTLLITEDIZLY— FERE L TWETD,

5) THAFEFHA, RBELZOBVITE G20 DTT,

(MEV BER (Bl 20)
Z OEE, FHEHETE EORAIC KD R Z LER A,
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(RIBET) (At 25)
<1>Ammtg<§ﬁ@k%é:%mw [N]

Aﬁ*ﬂ%%ﬁéﬁﬁwﬁ%é:%mw IN]

(2) BITIHEEOLENDOREE : pggV [N]

B BNAKNPORZT HFIDORES + pgV [N

5.
3) — 1
()41

(MED)  (BdA 25)

(1) 1=10s

(2) h=49m

(3) =20s, »=—98m/s

(M) (Bl 25)
(1) 1.1X10°J
(2) 1.1X10°J
(3) 63x10'K

(MEEV] (Bl 25)
(1) 2.0uF

(2) 042uF

(3) 1.0X10°4C



2024 £ BESH EF H=A)

(FE 1) (AdsL 20)

(1) O (6) X
(2) X (7) O
(3) X (8) X
(4) O (9) O
(5) O (10) X
(REEI) (AR 20)
(1) CaCOsz+ 2 HClI — CaCl; + H,0 + CO»
(2) HiE&, 0.039 mol
(3) 409
(RIEm)  (Bds 30)
(1) C(RER) +2H2(X) =CHs (X) + 75 kJ
C (H41) + 02 (R) = CO, (&) + 394 kJ
Hz (50) + 1/2 Oz (50) = H20 () + 242 kJ
(2) -165kJ
(REIV]  (FEdAS 20)
— & X w o [ARE] it & # [B#E]
(1) (1) (c)
(2) (v) (e)
(3) () (a)
(4) (7) (b)
(5) (=) (d)




